ANSWER KEY

Instructions: Balance the following chemical equations then tell what type of chemical reaction is
displayed in the chemical equation.

1. _E\_Mg(s) + ]_OZ(g) - _Q_Mgo(s) gy‘m“H)f/S"ls

2. | BaClhpq + _| NaSOsep — _2 NaClagy + _| BaSOus DR

3 Ly + 10— Lo Syrthes:s

4. _&Na(s) + n?___HzOg) — _Q_NaOH(aq) + l_Hz(g) S ‘—R

5. | MgOw + _| H,0p —» _| Mg(OH) Synthesis

6. A Nag + _| Chg — .2 NaClg Synthesis

7. _\__Ba(s) 4 _;Q_‘_HzO(l) % ‘_Ba(OH)z(aq) 4=} Hag) S-R

8. _9_\_ NaHCO;3¢) — _\—_NaZO(aq) + _\__Hzo(l) + iCOZ(g) | o
Lo 205, 10N

9. A Pe + 3 Clg — _2 PClag) Synthesis

10. R HCley + | FeSy —» | FeChgeg + | HSg D

11.__!_CH4(9) + i02(g) — _LCOz(g) + __2‘_H20(g) ComlkovS"h!o-'\

12. _J__C&C03(s) — _‘_CEO(S) + _\__COZ{Q) be-Cwa'.&bé 1\")';0."7

13. _LG(s) + _.:D_*_“HCi(aq) — ._l_.anIZ(aq) + _‘__Hzfg) S "R

14._| Ca(OH)asy — _| CaOg + _| Hy0q Decepmposition
15. 2 KClO3 — _2KClgy + 3 Oug De ompesition
16. | _H,S04 — _'_503(9; + | MOy De comzesihon
17._| HClagy + _| NaOH@g — _| NaClag + _! H,Oq

D-R
18. L HgOy — _2 Hag + _| Oxg Decormposiheon

19. __2__C4H10(g) + _]__3__02(9) — g;coz(g) + _EE_HzO(g) (L’ :‘V\LU‘S",’I‘O:’)

20. _\___Clz(g) + _Q;NaBr(aq) — §_NaCl(aq) + I_Bl’zu) S"R

21._RH00 — A Hyg + _| Oy D'EC""",F’ esihen
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[, +1 1 0,18 w0
FZHZ + rTNz — erHs

|2 Ao, = 4 e §§02

12 keioy - A kei+13 o,

M s+/80,-/8 50,

[2 g+ 7 0,515 00,416 1o

[T ASO0gs +| 3 Ca(OH) | 2 AIOH)s + | 2 caso,
[Up,+15 0,12 pp0;

1o ag+]1 5,218 agss

ﬁrAl + r{Brz — ﬁAlBra

F NaClO; — ! r;‘lm|\1;,1cl +13 0,
ﬁTAIBr;, + Fg Ch — 3 p AICI; + 3—:5& Br,
FiNaﬁ“EHzO—i A NaOH +1 U H,

E2 Ca(OH), + HHaF’O‘; S5 r‘wcah(u'@-oo2 A H,0
FzAgNoa + W KsPO4 — ?T AgsPO, + ﬁu KNO;
WcaHa + Eoz — réﬁcoz + TEFHzO

ﬁcsz 15 O ﬁcoz + ﬁhzo

2 e "% 0,1 €03+ 1€ 1o




